3. A. scene B. scare C. score D. scale
4. A. mouse B. shout C. cloud D. tough
5. A. bear B. pear C. fear D. wear
II. Vocabulary and Structure (15 points)

Directions: There are 15 incomplete sentences in this section. For each sentence there are
four choices marked A, B, C and D. Choose one answer that best completes the sentence
and blacken the corresponding letter on the Answer Sheet.

6. Modern science and technology has shortened the distance between people and brought us

closer.
A. very B. much C. too D. most
7. , the issue doesn’t seem to be difficult at all.
A. In my view B. For my view C. From my view D. With my view
8. Johnson his meal when his friend Tim called him to eat out together.
A. had finished B. has finished C. finished D. finishes
9. The two teachers taught him 30 years ago, but of them can recognize him now.
A. none B. each C. either D. neither
10. He late into the night, but now he goes to bed early due to health reasons.
A. used to work B. used to working
C. is used to work D. is used to working
11. Cultural exchange plays an important role promoting relation between the two countries.
A. at B. on C. to D. in
12. The news the general manager had been arrested shocked everyone.
A. how B. which C. that D. why
13. Researchers are trying to what’s wrong with their experiments.
A. call out B. pull out C. take out D. figure out
14. T still remember the house we lived when we arrived in Seatile in 2010.
A. which B. when C. where D. that
15. Whenever I was free, I would chat with John, Helen and a few friends.
A. other B. another C. the other D. others
16. I couldn’t go to the meeting because 1 had to my brother after his accident.
A. take after B. look after C. take over D. look over
17. Tom the car accident if he hadn’t drunk alcohol before driving.
A. avoided B. would avoid C. would have avoided D. will avoid
18. The question I am going to raise today is in with yesterday’s discussion.
A. connection B. contact C. company D. contrast
19. My computer broke down yesterday. I'll have it as soon as possible.
A. fix B. fixed C. to fix D. fixing
20. The education committee his proposal without giving him any reason.
A. turned up B. turned down C. turned in D. turned out

III. Cloze (30 points)
Directions: For each blank in the following passage, there are four choices marked A,
B, C and D. Choose the one that is most suitable and mark your answer by blackening
the corresggnding letter on the Answer Sheet.
Teachers are some of the most important professionals in the world. They are responsible 21

preparing future generations to become productive and honest citizens, who will 22 o society for
the whole of their adult life.
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